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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt of this question paper.

2. Answers may be written either English or in Hindi; but the same medium should
be followed throughout the paper.
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PART - A (WUS-&)

Answer any one question.
(Each question carries 15 marks.)
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‘1. Analyse the salient features of the Japanese Lifetime employment and
Enterprise Union systems. Do you think their roots lie in unique cultural tradition

of Japan ?
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2. Analyse the impact of World War I on the Japanese economy. What were the

major changes that happened in the economy in the period between the two

world wars ?
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3. “With the Railways Britain entered the period of full industrialisation” (Hobsbawm)).
Explain the statement with an analysis of the impact of the spread of railways (in

Britain and the World) on the British economy.
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PART - B (Wug-@)

Answer any three questions.
(Each question carries 20 marks.)
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4. Do you agree that the need for adequate supply of cheap wage goods
(particularly food grains) is crucial in the phase of industrial transformation of a

country ? Answer with reference to the experience of Britain, Japan and the

Soviet Union.
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5.

Trace the changes in the role of State in the British economy since early

industrialisation upto the Second World War.
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In spite of inheriting the British legal system, the USA, through a process of
Judicial interpretation created an essentially different structure and priorities in
the realm of contracts, property rights and labour rights to suit their capitalist

development. Discuss.
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“It is the segregation of the British manual worker’s world which is so striking”
(Hobsbawm). Analyse the nature of this segregation and the growth of class
consciousness in the British working class and briefly compare it to the Japanese

experience in the phase of industrialization.
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Analyse the foundations of the Soviet Planned Economy and the resultant structural
changes during the period of the first two five year plans (1928-1937).
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Write short notes on any two of the following : (10x2)

(a) The sequential spread of industries in Japan
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(b) An evaluation of ‘Material Balance Planning’ in the Soviet Union

(c) Relationship between traditional and modern industry in Japanese

industrialisation

(d) Role of ‘Enclosures’ in British capitalist development
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